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def send_out(udp_socket, recv_ip, sn, functionCode):

o 5

dLen = bytes([0,1]) #54E K /&

state = bytes([0]) # JIRZS

oOptions = bytes([0,0]) # FR{EikIm

currentTime = bytes(list(map(int, time.strftime("%y,%m,%d,%H,%M,%S",

time.localtime()).split(",")))) # SZHFiE]

HDReporT = bytes([0, 0]) # i S %df -kl %I

RTReporinterval =1 # SZIEdfE F4R (RIS (74P, 1-1440)
Recorlinterval =1 # H(f 1 5% [H] B% (71, 1-1440)

HDRepor =0 # Jj3s2%dim b3k (A1 (/N0 ARFE BE SEi 2 HRk)
HTAlarm =35 # iR Z1E(TC)

LTAlarm =0 # {Kifa 5 Z4E(C)

TBuffer =0.1 # IREZEME(TC)

HHAlarm =75 # B2 Z1{E (rh%)

LHAlarm =35 # fKIB 5 Z(E (rh%)

HBuffer =0.1 # JRJEZEMHE (rh%)

# HRAE SN 5 /T i 4 S8 0] 55 I B 2548 SN 5 €O T3 04,80 TSk N FRRL &
if sn[0:1] == b"\xCO0'":
cdata = (oOptions + currentTime + (RTReporinterval).to_bytes(2, byteorder =
'big') + (Recorinterval).to_bytes(2, byteorder = 'big') + HDReporT +

(HDRepor).to_bytes(1, byteorder = ‘'big') +
struct.pack('>h',int(HTAlarm*10)) + struct.pack('>h',int(LTAlarm*10)) +
(int(TBuffer*10)).to_bytes(2, byteorder = 'big') +

(int(HHAlarm*10)).to_bytes(2, byteorder = ‘'big') +

(int(LHAlarm*10)).to_bytes(2, byteorder = 'big') + (int(HBuffer*10)).to_bytes(2,
byteorder = 'big'))
elif sn[0:1] == b"\x80":
cdata = (oOptions + currentTime + (RTReporinterval).to_bytes(2, byteorder =
'big') + (RecorInterval).to_bytes(2,byteorder = 'big') + HDReporT +
(HDRepor).to_bytes(1, byteorder='big')  +
struct.pack('>h',int(HTAlarm*10)) + struct.pack('>h',int(LTAlarm*10)) + (int(TBuffer *
10)).to_bytes(2,byteorder="'big'))
# BT T REND, T B2 SE I E s T e B S R 2
if functionCode == b"\x01' or functionCode == b'\x0B'":
cLen = bytes([0, len(cdata)]) # A& K
CRCM = bytearray.fromhex((calc_crc((b'\x7e' + sn + functionCode + dLen +
state + cLen + cdata).hex()))[2:6]) #1155 CRC 5615




sendBytes = b'\x7e'+ sn + functionCode + dLen + state + cLen + cdata + CRCM
+ b"\x0D'
else:
cLen = bytes([0, 0]) # Ft & K&
CRCM = bytearray.fromhex((calc_crc((b'\x7e' + sn + functionCode + dLen +
state + cLen).hex()))[2:6]) #it 5 CRC #5665
sendBytes = b'\x7e' + sn + functionCode + dlLen + state + cLen + CRCM +
b"\x0D'
dest_ip =recv_ip[0]
dest_port = recv_ip[1]
udp_socket.sendto(sendBytes, (dest_ip, dest_port))
print("[B1 5 Z#f ", sendBytes.hex())

def recv_data(udp_socket):
B
while True:
recv_data = udp_socket.recvfrom(1024)
recv_ip = recv_data[1] #1& % IP ¥ [
data = recv_data[0] # £ F IR 5
if data[0:1] == b"\x7e" and data[len(data)-1:len(data)] == b'\xOD': # HI|Wr & 73
B3N 7€,/ ) 0D
print("HEe ", data.hex())
sn = data[1:7] #X %% SN =
functionCode = data[7:8] #I)HEMY
# THAEHD 01 A1 OB i Hidis
if functionCode == b"\x01' or functionCode == b"\x0B'":
temperature = struct.unpack('>h',data[10:12])[0] / 10 #i5 /E{H
# AR SN Z Ik 22K 4L, SN 5 Co FF3k 4,80 3k ikt fE
if sn[0:1] == b"\xCO0'":
humidity = int.from_bytes(data[12:14], byteorder='big') / 10 # &
JEfH
print("HEEBCAERT:","SN 5 :"+sn.hex(), "I5E " +str(temperature), "¥E
J& :"+str(humidity))
elif sn[0:1] == b"\x80":
print("HEBCERT:","SN 5 :"+sn.hex(), "i5.E "+str(temperature))
# THRERD 02 A oC AP S ¥
elif functionCode == b"\x02' or functionCode == b'\x0C'":
dLen = int.from_bytes(data[8:10], byteorder='big') # H#g I F&F
# R IR R SR AT
if sn[0:1] == b"\xCO0'":
foriinrange(10,dLen+1,10):
HTemperature = struct.unpack('>h', data[i:i+2])[0] / 10 # ic3%
T AR
HHumidity = struct.unpack('>h', data[i+2:i+4])[0] / 10 # C3%




W BEAE
#HTime = data[i+4:i+10].hex() # C3E0F[A]
# LI [A]
HTime = ("20"+str(ord(data[i+4:i+5])).zfill(2) +
str(ord(data[i+5:i+6])).zfill(2) + str(ord(data[i+6:i+7])).zfill(2) + " " +
str(ord(data[i+7:i+8])).zfill(2)+ ":" +
str(ord(data[i+8:i+9])).zfill(2) + ":" + str(ord(data[i+9:i+10])).zfill(2))
print(" 7 Al
"+str(int(i/10)),HTemperature,HHumidity,HTime)
# LR FE IO SRR AT
elif sn[0:1] == b"\x80":
foriinrange(10,dLen+1,8):
HTemperature = struct.unpack('>h', data[i:i+2])[0] / 10 # 3%
T B AE
#HHumidity = struct.unpack('>h', data[i+2:i+4])[0] / 10 # il'3%
TAER R
# LI [A]
HTime = ("20"+str(ord(data[i+2:i+3])).zfill(2) +
str(ord(data[i+3:i+4])).zfill(2) + str(ord(data[i+4:i+5])).zfill(2) + " " +
str(ord(data[i+5:i+6])).zfill(2)+ ":" +
str(ord(data[i+6:i+7])).zfill(2) + ":" + str(ord(data[i+7:i+8])).zfill(2))
print(" 7 21 3% "+str(int(i/10)),HTemperature,HTime)
# INEERD 03 A1 0D M5 4
elif functionCode == b"\x03' or functionCode == b"\x0D":
print(" & 20 3x")
send_out(udp_socket, recv_ip, sn, functionCode) #[0| & 1% £

def calc_crc(string):
"""CRCM &
data = bytearray.fromhex(string)
crc = OxFFFF
for pos in data:
crc A= pos
foriin range(8):
if ((crc & 1) 1=0):
cre>>=1
crc A= 0xA001
else:
cre>>=1
return hex(((crc & Oxff) << 8) + (crc >> 8) + 4660)

def main():
#1. QIEERET
udp_socket = socket.socket(socket.AF_INET, socket.SOCK_DGRAM)




#2. GOEARHAE S

udp_socket.bind(("", 6666))

#3. G — AT AR H R

t = threading.Thread(target=recv_data, args=(udp_socket,))
t.start()

n n

if _name__=="__main__":




